(x 2B 28T DHIREE H +)
(*Mathematica DIEMAIES DEIHMOEBEDNFayDAREESTIVD*)
(*EllipticK[pxp]]1<-->E[p] (Fay) ETNIELLV. £z, Mathematica DEMAEHDEI#I,

feeZ (L, EllipticF[phi,p2] EBATWBEITER (BAEDLET, p2biHE) +)

Clear["Global +"];

q=N[Sqrt[P«L"2/EI]]; q

3.16228

(= (2.16)ICED q E5ZEZDpERDHS. *)

fn = q-E1lipticK[p * p] + E1lipticF[ArcSin[1/Sqrt[2] / p]l, P *P];
pans = FindRoot[fn == @, {p, ©.8}1[[1]1]1[[2]]

0.997533 - 3.72349x 10718 1

ERBABDRHONSD, EBEH/DSVDTHEETS+)

pansl = Re[pans]

0.997533

(*CDpZFALVTphi=ArcSin (1/ (Sqrt[2]p) ) LDphiZK¥H3 «)

phil = ArcSin[1 / Sqrt[2] / pansl]

0.787874

(3£ (2.18)[CLD, BDEIRDEELNDH6[in. ] ERHD *)

sdelta =L/ q* (EllipticK[pansl x pansl] - E11lipticF [phil, pansl % pans1] -
2 x EllipticE[pansl x pansl] + 2 » E11lipticE[phil, pansl x pansl])

81.0609

(»=(2.20) &0, BDEIRDKFELZDHA [in. ]ERHF )

Ldelta =L-Sqrt[2 % EI * (2% pansl”2-1) /P]

55.4996

(*Sin[psi_@]=2xp*p-1dD, KIREDHA A psi_0 ERHB*)
psi® = ArcSin[2 x pansl x pansl - 1]

1.43029
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(xdegree Et&«)

psio » 180 / 3.141595
81.9493



